SECONDARY SCHOOL EXAMINATION - 2023 (ANNUAL)

Sub. Code —114 Model Set
Advanced Mathematics (Optional)
Iea A (Veed)
@ YTl B AAT : 100+30+8 = 138 quiid — 100
Total no. of Questions : 100+30+8 = 138 Full Marks - 100

ghenfefal & ferg 7T -

Instructions for the Candidates :

1. TR OMR STR U5d UR 39T U GREI®HT Al (10 3ihl BI) 3aey
fored |
Candidate must enter his/her Question Booklet Serial No. (10
digits) in the OMR Answer Sheet.

2. TNt g 3o vreal H 8 SR < |
Candidates are required to give their answers in own words as far
as practicable.

3. <R @R RN R RY gy oie gte Piffe e )
Figures in the right hand margin indicate full marks.

4. Ul DI AFYED Y & fory 15 e @1 sifaRed wwa fear & 7|

15 minutes of extra time has been allotted to the candidates to

read the questions carefully.
5. I8 U RGP 1 US| H § — WUS—3l Ud WS4 |
This question booklet is divided into two sections — Section-A and

Section-B.
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Gus—3] H 100 IS U 7, TH ¥ Bl 50 FeAl B IR <A1
I B TEm | IIf¥e geHEl & SR oF W UYH 50 SRl BB
i gRT fhdl ST | 9% Ued & fog 1 3id FeiiRd & | g97at
el IR BT Iyl HY T OMR IR = H Ay 1Y H2l [Adwed a1
Tl /BTl §fcl U9 9 W6 B | fhedl il YR & e / d¥dl g
/ &S / RgA 3 &1 OMR ITR UG H YANT AT H4T 7, AT
aRoIA M BT |

In Section-A there are 100 objective type questions, out of which

any 50 questions are to be answered. First 50 answers will be
evaluated in case more than 50 questions are answered. Each
question carries 1 mark. For answering these darken the circle
with blue / black ball pen against the correct option on OMR
Answer Sheet provided to you. Do not use Whitener / liquid / blade
/ nail etc. on OMR-sheet, otherwise the result will be treated
invalid.

Gus—q H 30 oY IR YA &, OFH I Bl 15 Ul & IR oA
IRl B UAS UeH @ v 2 3 MUiRT B | 3o aifaRad, s @vs
H 8 A" SN g Y W 8, e ¥ Bl 4 Ul BT STR oAl
fard 2| U”% ued & forg 5 of MeiRa 7|

In Section-B, there are 30 short answer type questions, out of
which any 15 questions are to be answered. Each question carries
2 marks. Apart from these, there are 8 long answer type questions,
out of which any 4 questions are to be answered. Each question
carries 5 marks.

Pl UPR & Seldgi-id SUBRYT B YART Yoiadr afsid z |

Use of any electronic appliances is strictly prohibited.
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s — 3 / Section - A
J&Is g / Objective Type Qestions

3T IT 1 F 100 TP & YT & A1 IR fdepey fov v € 9% 9 e 98 2
f=gl 50 UeHl & SR 307 §RT g Y Hel fadbed o OMR i R fafed o |

50x1=50

Question nos. 1 to 100 have four options, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the
OMR-sheet. 50x1=50

1.

570° fhd aqgerier 4 2 ?

(A) 92 (B) fg<irm
(C) T (D) =g

In which quadrant does 570° lie ?

(A) first (B) second
(C) third (D) fourth
—395° fq =gerier 9 § ?

(A) T (B) fe<ita
(C) T (D) =g

In which quadrant does -395° lie ?

(A) first (B) second

(C) third (D) fourth

3
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B1oT 80° BT HF SIT H B
51 41T
(A) > (B) 5

(GE= (D)

ol

The value of the angle 80° in radian is —
51 4T
(A5 B

(€)= (D)

©old

211 G BT A fHa AABIVT & RIS BT © 2
(A) 1 (B) 2

(C)3 (D) 4

How many right angles is equal to the value of 2rr radian ?
(A) 1 (B) 2

(C)3 (D) 4

80 Us T 9H & # 7 —

(A) 48° (B) 54°

(C) 72° (D) 80°
The value of 80 grade in degree is —

(A) 48° (B) 54°

(C) 72° (D) 80°

4
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1—7; T &1 A Rl § & -

(A) 10° (B) 18°
(C) 20° (D) 36°
The value of 158 radian in degree is -

(A) 10° (B) 18°

(C) 20° (D) 36°

BT BIvT & 185" HI Rerfar H gRy#oT favor Rerd sRfT —

(A) wer u1e H (B) fe<irar wre #

(C) gy ure H (D) Trqet ure #

The position of rotating ray in the case of 185° will be —
(A) in first quadrant (B) in second quadrant

(C) in third quadrant (D) in fourth quadrant

0 f&w urg & B8R O1fd cosO AR tanf T FUTHD B 7
(A) TH (B) fe<ita
(C) T (D) =rqief

[

In which quadrant does 6 lie such that both cosf and tan@ are

negative ?
(A) first (B) second
(C) third (D) fourth

5
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10.

11.

qHITE ST BT USR-S HIVT BIAT &§ —

(A)g NEpE (B)g NEpE
(C)% NERE (D)% NERE
Each angle of an equilateral triangle is —

(A)g radian (B)g radian
(C)% radian (D)% radian
45° BT FHPIOT H AT B —

(A) 1 (B);

(C)5 (D)=

The value of 45° in right angle will be —

(A) 1 (B);

(C)5 (D)=

4:00 91 TSI B e 3 GE AR ¢ @ G & 91 BT BT BT —
(A) 60° (B) 90°

(C) 120° (D) 180°

The angle between the minute and hour hands of a clock at 4:00

o’clock will be -

6
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12.

13.

14.

(A) 60°

(C) 120°

(B) 90°

(D) 180°

N oIl dTel FHIGYST BT U 3= DIV BIAT & —

(A) (2n — 4) x 90°

2n—4
n

(C) (==) x 180°

Each interior angle of a regular polygon of n sides is equal to —

(A) (2n — 4) x 90°

(C) (Z"n“*) x 180°
f=feRad & &9 e 8 ?

(A)

|
~ =

(C)l=06xr
Which of the following is false ?

(A)

D+
~ =

(C)l=6xr
140° BT FHERLT BT & —
(A) 360°

(C) 220°

The co-terminal angle of 140° is —

7
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2n—4
n

(B) (=) x 90°

2n-3
n

(D) (22) x 90°

(B) (2"‘4) x 90°

n

(D) (Z“n‘3) x 90°

(B) 500°
(D) s ¥ ®Ig &l



15.

16.

17.

(A) 360° (B) 500°

(C) 220° (D) none of these

AERI el @ W fedl g9 | Ife r= 28 o AT [ = 132 FHo oI

6 —
(A) = X (B) = X
(C) = X (D) 2 X

With usual notation in any circle of r =28 cm and [ = 132 cm then

0 =
(A) % radian (B) % radian
(C) % radian (D) % radian

QEBW‘@;GWW@%W%W%,H#@M@H%HL%%ﬁjﬁ—

(A) 2 (B) 4
(C)6 (D) 8

The exterior angle of a regular polygon is % radian then the number of

sides will be -

(A) 2 (B)4
(C)6 (D)8
cosA.tanA =

(A) sinA (B) cosA
(C)1 (D) cotA

8
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18.

19.

20.

21.

Hﬁcos@=§a‘rsineaﬂm¢rﬁm—
(A)2 (B):

(C)= (D)

S lw

If cosO = g then the value of sing will be
(A) - (B):

3 3
(C) (D)7

5cosec?d — 5cot?0 =

(A) -5 (B) 5

(C)0 (D) 1

sech &1 A tanf & Ui # BN —

(A) V1 + tan?6 (B) V1 — tan26
(C) Vtan26 — 1 (D) 1 + tan®
The value of sec@ in terms of tané will be —

(A) V1 + tan?6 (B) V1 — tan?6
(C) Vtan26 — 1 (D) 1 + tan®
I cosech — cotf = x AT cosech &1 A BRI —
®3(x-3) ®)3(x+3)
(C)x— - (D) x + -

9
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22.

23.

24.

25.

26.

If cosech — cotf = x then the value of cosecé will be —

i)

(C)x— -
cos’h.sec’d =
(A) 1

(C) cosd

tan25% _
cot650

(A)O

(C) 1

sec’d — sec’d =
(A) tan*6 — tan?6

(C) 1

1+ cosé .
1—coso N

(A) cosect + cotf

(C) cosec’d — cot’d

IfY 16c0th = 12a>rj“9‘—“’59=

in cos@

(A)>

B)5(x+3)

(D) x + -

X

(B)O

(D) seco

(B) -1

(D)

N |-

(B) tan®6 — tan6

(D) tan6 + tan*6

(B) cosect — cotd

(D) cosec?d + cot?d

(B)~
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27.

28.

29.

30.

(C)0

If 16cotf = 12 then
3

(A) >

(C)0

cosec120° =
2

(A) NG

(C)2

tan315° =

(A) 1

(C)V3

cos(90° - 9) =

(A) cosf

(C) sin@

sinf — cosf _
sinf + cosf

(D)2

(B)-
(D)2
(B)%

(D) -2

(C) - cosb

(D) - sin@

cos1%.cos2°.cos3? .... Cos180° &1 #19 & —

(A) 1

(C)2

(B) -1

(D)0

The value of cos1°.cos2°.cos3° .... Cos180° is —

(A) 1

(B) -1

11

For More PDF and study materials visit- skylightstudy.in



31.

32.

33.

34.

(C)2 (D)0

141

cot—=

3
(A) - cotg (B) cotg
(C) tan (D) - tan

cosec’33% — sec?57° &1 HH ® —

(A) 1 (B) 0
(C)-1 (D)=
The value of cosec?33° — sec®57° is —

(A) 1 (B) O
(C)-1 (D)=
afe 2sin@ — 2cos® = 0 AT @ BT ATF BRIT —
(A) 30° (B) 60°
(C) 45° (D) 90°

If 2sin — 2cos@ = 0 then the value of 9 will be —

(A) 30° (B) 60°
(C) 45° (D) 90°
cos(-x) =

(A) —sinx (B) sinx
(C) -cosx (D) cosx

12
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35.

36.

37.

38.

T .
aﬁazgﬁﬁsma—cosazﬁrmﬁr%ﬁm—

(A) 0 (B)%
V3-1 V3-1
©= (D)2~

Ifa = g then the value of sina — cosa will be

(A) 0 (B)%
V3 - V3 -
(C) = (D) ==

ferforRaa # & @9 tand & RTER & 7
(A) tan (90° + ) (B) tan (90° - 6)
(C) cot (180° - 9) (D) tan (180° + 0)

Which of the following is equal to tang ?

(A) tan (90° + 6) (B) tan (90° - 9)

(C) cot (180° - 9) (D) tan (180° + 0)

cos (A+B)=

(A) cosA.CosB - sinA.sinB (B) cosA.cosB + sinA.sinB
(C) cosA.sinB — sinA.cosB (D) sinA.sinB — cosA.cosB

sin32°.c0s28° + c0s32°.sin28° &1 A= BRI

(A) 0 (B)2

13
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39.

40.

41.

42.

(C)

N |-

(D)

The value of sin32°.cos28° + cos32°.sin28° will be —

(A) 0 (B)%

(C); (D) 5

sin15° =

(A) B (B) 21
V3+1 V3-1

€5 055

3sin@ + 4cosO &1 HEdH AH § —
(A) 7 (B)5
(C) 4 (D)3

The maximum value of 3sin@ + 4cos@ is

(A) 7 (B) 5

(C) 4 (D)3

cot(x —y) =

() Soizcon B) oy oir

cos(A + B).cos(A-B) =

(A) cos’B — sin’A (B) sin’A — cos’B

14
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43.

44,

45.

46.

(C) cos®B + sin’A (D) cos’B — cos®A
sin(% + A).sin(% -A)

(A) 1 + sin’A (B) 1 - sin°A

(C) 5 - sin’A (D) 5 + sin’A

sin(x +y)—sin(x —y) =

(A) 2sinx siny (B) 2sinx cosy

(C) 2cosx siny (D) 2cosx cosy

IfE sin80° + sin20° = Ksin50° @ K &7 #19 81T —
(A)V3 (B) v2

(C) 1 (D) 2

If sin80° + sin20° = Ksin50° then the value of K will be —
(A) V3 (B) V2

(C) 1 (D) 2

I cos50° + cos40° = v/2cosA @ A BT ATH BRIT —

(A) 5° (B) 10°

(C) 20° (D) 25°

If cos50° + cos40° = v2cosA then the value of A will be —
(A) 5° (B) 10°

(C) 20° (D) 25°

15
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47.

48.

49.

50.

51.

52.

sin75° —sin15° =
(A) -+

(C)0

sin45° + cosec45’ =
(A)

(€)%

. 5m T
2sin—.cos— =
12 12

A2

(C) 2++/3

2

cos(% - 0) + cos(% +0) =

(A) V2cosh

(C) 2cosf

2tan30°
1- tan?2 300

(A) cos60°

(C) sin 60°

7T—

sec’> — tan?
11 11

(A) 1

(B)

(D) 1

(B);V2
(D) 3v2

V3+1
2

(B)

(D)

N |-

(B) 2sin6

(D) V2sin6

(B) tan60°

(D) sin30°

(B)O
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53.

54.

55.

56.

57.

(C) -1

sinx—siny _

cosx+cosy

(A) tan(=?)

(C) tan(22)

tan24 =

2tanA
( ) 1+tan2A

cot?A-1
( ) 2cot

3sind — 4sin’0 =
(A) 2cos36

(C) cos36

(D)~

(B) tan(x +y)

(D) —tan(x - )

2tanA
( ) 1-tan2A

1—tan?A
(D) 2tanA

(B) sin36

(D) 2sin36

1
Hﬁcosx=zﬂﬁc053xaﬁrﬂﬁzﬁm—

(A) =

(C)- =

(B) =

13

D)1

If cosx = % then the value of cos3x will be —

(A) =
(C)- =

1 — 2sin?45° =
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58.

59.

60.

61.

(A)O (B) 1

(C)~ (D) - 1

Ifg sinx = %H@ﬂ COSX = %Fﬁ Sin2x &1 919 81T —
12 24

(A) > (B) —;
7 6

€) ¢ (D) ¢

If sinx = g and cosx = % then the value of sin2x will be -
12

(A) = (B) —

(C)

(S0 N
—~
)
N
ur | o

2sin5x cosdx =

(A) sin5x (B) sin10x
(C) cos5x (D) cos?10x
Ifg sind = cose Al @ &AM & —

(A)90° - 6 (B)90° + @
(C) 180°- 6 (D) 180° + 6

If sin@ = cosg then the value of ¢ is -

(A)90° - 0 (B)90° + @
(C) 180°- 6 (D) 180° + 6
1—cos

1+cos a

18
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62.

63.

64.

65.

66.

(A) tan®2 (B) tan’

(C) cot? (D) cots
2c0s22Y5° — 1 =

(A)O (B) 1

(C)~ (D) %

1 -cos80° =

(A) 2cos?40° (B) 2sin®40°
(C) cos®40° (D) 2cos?20°
4co0s°10° — 3cos10° =

(A)3 (B)

()2 (D)0

afk 6 = 140° 1 sinZ — cos” T e B

(A) g-THD G ERURED
(C) (A) 7err (B) <t (D) 578 & Bl Tl

If & = 140° then sign of sing - cosg will be

(A) positive (B) negative
(C) both (A) and (B) (D) none of these
1—cos2x

sin2x

19
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(A) tanx (B) cotx
(C) sinx (D) cosx

67. I A+B+C=ndl cos(B+C)PT A9 T —
(A) cosA (B) — cosA
(C) sinA (D) - sinA
If A+ B + C = m then the value of cos(B + C) is —
(A) cosA (B) — cosA
(C) sinA (D) - sinA

68. ?Jﬁ{A+B+C+D=27TFﬁSinA+TB€b‘rHW§—

(A) cos(=°) (B) ~cos(—-)
(C) —sin(—=) (D) sin(==2)

If A+ B+ C+D = 27 then the value ofsin# is —

(A) cos(-==) (B) —cos(—==)

(C) ~sin(=5") (D) sin(=;-)
69.  cos*= —sin*= =

(A2 (B)0

(C) -1 (D)~

20
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70.

71.

72.

73.

74.

sin*A— cos*A _

sin2A— cos?A

(A) -1 (B) 2

(C)0 (D) 1

cot43’ =

(A) tan43° (B) tan47°
(C) cos47’ (D) cosec47’
sin30°27" _

0559933/

(A)1 (B) 0

©); (D)1

Ife tan66 = tan120° T O &1 A BT —

(A) 10° (B) 20°

(C) 30° (D) 60°

If tan66 = tan120° then the value of 6 will be —
(A) 10° (B) 20°

(C) 30° (D) 60°
afy £=15°a1 - — sin’A =

(A)O (B) 1

(C) -1 (D)- 3

21
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75.

76.

77.

If £ =15 then - — sinA =
(A)O (B) 1
(C) -1 (D)- 3
afe cosf = -1 (S&F 0°< 6 <180°) a1 6 &1 A4 &
(A) 45° (B) 60°
(C) 150° (D) 180°
If cos6 = -1 (where 0°< 8 <180°) then the value of 8 is
(A) 45° (B) 60°
(C) 150° (D) 180°
afe v/2sinA = 1 (STef 0°< 4 <180%) o A &1 919 & —
(A) 60°, 120° (B) 45°,135°
(C) 45°,180° (D) 30°, 150°
If V2sinA = 1 (where 0°< 4 <180°) then the value of A is —
(A) 60°, 120° (B) 45°,135°
(C) 45°,180° (D) 30°, 150°
Ife v/3sind — cosd = 0 (STET 0°< @ <360°) 1 @ &7 A9 § —
(A) 90°, 210° (B) 60°,180°
(C) 45°,180° (D) 30°, 210°

If v/3sin6 — cosh = 0 (where 0°< 8 <360°) then the value of @ is —

22
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78.

79.

80.

(A) 90°, 210° (B) 60°,180°
(C) 45°,180° (D) 30°, 210°

2sin°0 + 3c0s°0 BT =IATH 79 & —

(A)5 (B) 3
(C)2 (D) &4 & @I T
The least value of 2sin°g + 3cos’0 is —

(A)5 (B) 3

(C)2 (D) None of these

fordY AABC & cosB &1 #19 8IdT & —

C% + a? — b? C? + a? — b?
(A)—— B)—%—

a? + b2 — c? C%— a? — p?
(C) ——— D)
In any AABC, the value of cosB is —

C? + a% — b? C2 + a? — b?
(A)—— B)—%—

a® + b2 - c2 C%— a? — p?
(C)——— O)
fodt AABC tan?.tang =

b% + c2 b-c
(A) bZ-c? (B) b+c

b%— c2 b+c
(C) b2 + c2 (D) b-c

In any AABC tan}'r’)z;c.tan%1 =

23
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81.

82.

b-c
b+c

(B)

b+c

(D) b-c

afe AABC % b =8 &0, ¢ =2 9o a2 A =60° d AABC &1 &5%hd

B
(A) 16v/3 @i0®

(C) 16 H0°

(B) 4v/3 wfio?

(D) 32 H0°

In AABC if b = 8cm, ¢ = 2cm and A = 60° then the area of AABC will

be —
(A) 16v/3 cm?

(C) 16cm?
frrafoRed ¥ 9 s AT 2 7

s(s—=b)
ca

(A) cosg =

(C) cosZ = [2E=2)
2 2bc
Which of the following is true ?

B s(s—b)
2 ca

(B) 4v/3cm?

(D) 32cm?

s(s+b)
ca

B _ (s—a)(s—c)
(D) cos> /—S(S_b)

(B) cosg =
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83. AABC % 22-O _
sin (B + C)
b2+ c? b?-c?
(A) 2 ®) 2
b—c b%-c
(€)= (D) 225
In AABC 2289 =
sin (B + C)
bZ+ c? pZ— 2
(A) 2 B) 2
b-c b?-c?
(€)= (D) 2=

84. IT AABCH a=3,b=57ar ¢ =7 d AABC &1 \ad BIeT I BT —
(A) ZA (B) /B
(C) «C (D) 37 ¥ @13 &l

In AABC if a =3, b =5 and c =7 then the smallest angle of AABC will

be-
(A) £A (B) «B
(C) «£C (D) none of these

85. TP WIS QAR & W o W SHIF & A1 60° H HIVT a1 © | IS
G BT UIg IR | 25 W0 R 7, a1 Algl Il d918 © —
(A) 2.5 HIo (B) 45 #lo
(C) 10 #io (D) 5 #o

25
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86.

87.

88.

A ladder makes an angle of 60° with the ground when placed with a

wall. If the foot of the ladder is 2.5 m away from the wall then the

length of the ladder is —

(A)2.5m (B) 4.5 m
(C) 10 m (D)5 m
g A(-6, —11) & BIfC & —

(A) -6 (B) -11
(C)-17 (D)5
The ordinate of the point A(-6, -11) is —

(A) -6 (B) -11
(C)-17 (D)5

fgalf (a+ b, a—b) iR (2a + 2b, 2a —2b) & & & T/ ¥ —

(A) Va? + b? &g (B) (a? + b?) 5T
(C) y/2(a? + b?) &1 (D) y/2(a? — b?) 3T

The distance between the points (a + b, a — b) and (2a + 2b, 2a — 2b)

is —

(A) Va? + b? units (B) (a® + b?) units
(C) /2(a? + b?) units (D) 2(a? — b?) units

x —31eT | fag A6, 9) @1 g § —

26
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89.

90.

91.

(A) 6 318 (B) 15 gobrg

(C) 3 soTS (D) 9 s@TS

The distance of the point A(6, 9) from the x-axis is —
(A) 6 units (B) 15 units

(C) 3 units (D) 9 units

af fage (p, 0), (0, q) 3R (2, 2) dvw &, %ﬁ =
(A) 1 (B)~

(C)2 (D)--

If points (p, 0), (0, q) and (2, 2) are collinear then % + é =

(A) 1 (B)~

(C)2 (D)- 3

7o fag 9 fa45 P(sing,cosh) &1 3 & —

(A) V2 gr$ (B) 2 313

(C) 1 3TE (D) 5% & BIg =&
The distance of the point P(sing,cos@8) from the origin is —
(A) V2 units (B) 2 units

(C) 1 unit (D) none of these

fa=g P(0, 8) 3R Q(4, 8) @1 e arell Y@ PQ @& forg ffaRad #
PIT—T T B ?
(A) PQ Il y-37e1 (B) PQ Il x-37e7
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(C) PQ L x-377 (D) T ¥ F1E e

Which of the following is true for the line PQ joining the point P(0, 8)

and Q(4, 8) ?
(A) PQ Il y-axis (B) PQ Il x-axis
(C) PQ L x-axis (D) none of these

92. fa=g P(10, 6) Rerq &1 —
(A) 92 UTg H (B) =gl ure H
(C) fgia urg # (D) Teirr ure
The point P(10, 6) lies
(A) in the first quadrant (B) in fourth quadrant
(C) in the second quadrant (D) in the third quadrant
93. fr=iferRad % & @ @1 fog g aqafer # Rera g ?
(A) (-6, -9) (B)(7,9)
(C) (8,-6) (D) (-3, 5)
Which of the following points lies in the third quadrant ?
(A) (-6, -9) (B) (7,9)
(C) (8,-6) (D) (-3, 5)
94. W@ x =-7 &1 i@ 71 4 9 {5 fag | 8ax ol —
(A) (-7, 4) (B) (4, -7)
(C) (0,-7) (D) s & ®Ig =&l
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95.

96.

97.

The graph of the line x = -7 passes through which of the following

point ?
(A) (-7, 4) (B) (4,-7)
(C) (0, -7) (D) none of these

fFrefaRad & & S—w1 fag goR agier o g ?
(A) (3, 7) (B) (-8, 10)
(C) (5. 0) (D) (-7, -8)
Which of the following points lies in second quadrant ?
(A) (3, 7) (B) (-8, 10)
(C) (5, 0) (D) (-7, -8)
=g A(0, 10) 3iR B(6, 0).®! R drel Xaravs & 7 fivg @ FRm®
o
(A) (6, 10) (B) (0, 0)
(C) (3. 9) (D) (0. 4)
The coordinates of the midpoint of the line segment joining the points
A(0, 10) and B(6, 0) are
(A) (6, 10) (B) (0, 0)
(C) (3, 9) (D) (0, 4)
Ik APQR & ¥ P(4, 9), Q(2, 3) @ R(6, 5) & a1 i R & Wi T=A
AP BT TS & —
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98.

99.

(A)5 (B) 10
(C) 25 (D) V10
If P(4, 9), Q(2, 3) and R(6, 5) are the vertices of APQR then the

length of the median drawn through R is —

(A) 5 (B) 10

(C) 25 (D) V10

afe AABC @& ¥ A(2, 3), B(5, 6) @ C(8, 6) € d BT dH=d &I
FamE BN —

(A) (2. 3) (B) (5, 6)

©) 2 2) (D) (5, 5)

If vertices of the AABC are A(2, 3), B(5, 6) and C(8, 6) then

coordinates of its centroid are

(A) (2, 3) (B) (5. 6)
©) 2 2) (D) (5, 5)

fa=g P(-1, 3) 3R Q(4, -7) &I WA dTel WI@US &I 3 : 4 & 3fUrd 4

3 foTioTa et arel fa=g &1 x —f s & —

3x4+4x(-1) 3x(-7)+4x3
A =% — B) =
3x4—4x(-1) 3x(-7)-4x3
(€) D R

The x- co-ordinate of a point which divides the line segment joining
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P(-1, 3) and Q(4, -7) in the ratio 3 : 4 internally is —

(A) 3x4;—j:(—1) (B) 3x(—37_3:4x3
3x4—4x(-1) 3x(-7)-4x3
C)—=— D) ——=—

100. fa=gait (0, 9), (7, 13) 3R (-15, -3) | = ST &I &bt & —
(A) 24 (B) 12
(C)8 (D) 4

The area of the triangle formed by points (0, 9), (7, 13) and

(-15, -3) is —
(A) 24 (B) 12
(C)8 (D) 4

Yvs—g / Section-B

&g SR ue / Short Answer Type Questions.

U3 AT 1 ¥ 30 7Y IING U €| 599 | bl 15 YTl B IR < | UAD B
forw 2 of fuiRa T | 15x2=30

Question Nos. 1 to 30 are short Answer Type. Answer any 15 questions.

Each question carries 2 marks. 15x2=30
1. 15°33" @I G A9 H ford |

Express 15°33’ in circular measure.

31

For More PDF and study materials visit- skylightstudy.in



31 7T
U S B1 Th BT — SR QAT PIOT — B T AR PIOT BT A
ot # | w |
One angle of a triangle is j—’; and the second angle is Z—’; Find the

third angle in degree mesure.

Ife e ®o7 & 99 fSIf gom U< § Haw: D iR G & d g o

fb G=-D=

©|T

If the measure of an angle is D and G in degree and grade

respectively then prove that G- D =

o |-

Udh g ! Brar 10 9HI0 2| SS9 A9 B Al S0 BN Sl des W) 45°
BT HIOT g7 2 |
The radius of a circle is 10 cm. Find the arc of the circle which

makes an angle of 45° at the centre.

TSI H °C DI g3 NI 45 A9 H S0 T DIVT &I ST H Fared |

Find the angle in radian made by the hour hand of a clock in 45

minutes.
R cotd = = 3R 9 T WE F B A cosh TN cosect BT AN T

PN |
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10.

11.

12.

If coté = % and @ is in third quadrant then find the value of cosé

and cosecf.

Ife tan’A + cot’A = a® 3R tanA —cotA = b & @I

Rig & & a° — b*=2.

If tan®A + cot’A = a® and tanA — cotA = b then prove that a® — b?=2.
Rig & f% cosec’d + sec’d = cosec’d.sec’d.

Prove that cosec?d + sec®d = cosec’d.sec?6.

SreproTfiea srguTdat sin(-870°), cos(-870°) e tan(-870°) &I Ted %A
¥ forgd |

Write the trigonometrical ratios sin(-870°), cos(-870°) and
tan(-870°) in descending order.

CIEESINECA S

Sin(270° — A).sin(90° — A) — cos(270° — A)cos(90° + A)

Find the value :

Sin(270° — A).sin(90° — A) — cos(270° — A)cos(90° + A)

sin120° — cos150° + tan135%&T A STd &N |

Find the value of sin120° — cos150° + tan135°.

afe € =g (2, 4), (5, 9) @1 (x, y) e &

g & fh 5x—3y +2 = 0.

33

For More PDF and study materials visit- skylightstudy.in



13.

14.

15.

16.

17.

If three points (2, 4), (5, 9) and (x, y) are collinear then prove that
5x -3y +2=0.

39 o5 & Fame =ird B ST fwgail (4, 6) Td (8, 10) @I el dret
YRGS P SaARed ®T H 2 : 3 & AU # ffd oH=ar 2|

Find the co-ordinates of the point which divides the line segment joining the

points (4, 6) and (8, 10) in the ratio 2 : 3 internally.

Rig & fb —
sin40°.cos20° + cos40° . sin20° = ‘/2—§
Prove that :-

V3

sin40°.cos20° + cos40° . sin20° = .

R1g &
cos55° + cos65° — cos5° = 0
Prove that :

cos55° + cos65° — cos5’ = 0
afs AR B qa‘crﬁwg‘fﬁwcotA=%3ﬁ'\’ cotB=§?rEﬁ cot (A + B)
BT A S BN |
If A and B are acute angles and cotA = %, cotB = % then find the
value of cot (A + B).
g & & —
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18.

19.

20.

21.

22.

23.

24.

c0s65°.cos25° = %cos40°.
Prove that : -

c0s65°.cos25° = %cos40°.

Rrg o 5 - tan54° = c0s9° + sin9®

c0599— sin9o

Prove that : tan54° = &3> *+sin%

c0s99— sin9o

ﬁl@’ Elﬁ ﬁ? : sin3x-sinx = sinx

2co0Ss2x

o si .
Prove that : 222575 = ginx
2c0S2

Rig o fp : 2% = cot?g,

Prove that : 1”22 = cot?6.

afe tand =%T‘ﬁ co0s20 &1 79 fabTet |

If tand = % then find the value of cos26.
g o & - tan% + cot? = 2cosecA.
Prove that : tan? + cot% = 2cosecA.
tan221;0 &1 A Haprel |

Find the value of tan2212—0 '

afs A+B+C = a1 Rig & & —
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25.

26.

27.

28.

29.

cotB.cotC + cotC.cotA + cotA.cotB = 1

If A+B+C = & then prove that

cotB.cotC + cotC.cotA + cotA.cotB = 1

g N : cosecx +v2 =0 wiEf 0° < x < 360°.

Solve : cosecx + V2 = 0 where 0° < x < 360°.

i fedT Byt ABC H ®IoT 3 : 4 : 5 d 3[uad A sl dl a:b:c 9
N |

If angles of any triangle ABC are in the ratio 3 : 4 : 5 then find
a:b:c.

el AABC #, Rig @Y fap S0 = S99

sinC  b—acosC

smB c—aco

In any AABC, prove that

nc b aco

X @1 74 9 BN s forw fag P(x, 4) @2m Q(9, 10) & dra &1 g0
10 3FTS T |

Find the value of x for which the distance between the points

P(x, 4) and Q(9, 10) is 10 units.

y-31e WR g 91 N ST g (=5, —2) TAT (3, 2) W AR Bl |

Find the points on the y-axis which is equidistant from the points

(-5, -2) and (3, 2).
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30. fag & (U (—2, 3), @4, 0) T1 (1, —3) T& HAfgag et & Y 2 |
Prove that the points (-2, 3), (4, 0) and (1, —3) are the vertices of

an isosceles triangle.

<" 98I 939/ Long Answer Type Questions.

T3 G 31 W 38 <Y SN U 8| 398 A fhwl 4 Ul B SR < | UAD

ged & forg 5 3fe MeiRa 7 | 4x5=20
Question Nos 31 to 38 are Long Answer Type. Answer any 4 questions.
Each question carries 5 marks. 4x5=20

31.  SgiaaE fafr 9 g aX &, sin(A + B) = sinA.cosB + cosA.sinB.

Prove geometrically, sin(A + B) = sinA.cosB + cosA.sinB.

g 2 4 8 14 1
32. g & & cos£ . cos%.cos—”.cos—” =—

15 15 16

2T 41T 8 141 1

Prove that cos— . cos—.cos—.cos— = —
15 15 15 15 16

33. Ifd sind + sing = p 3R cosh + cosy = q

ar Rig B & sin(@ +¢) = =22

p?+q?’

If sin@ + sing = p and cosé + cosg =

2pq
p?+q?’

then prove that sin(6 +¢) =

34. AR seca + cosa == (GEl 0°< a < 27) BT A BN

N

(where 0° < a < 2n).

N

Solve the equation seca + cosa =
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35.

36.

37.

38.

afs fdr AABCH A+B+C=m,

ar fg @Y & cos2A + cos2B + cos2C = -4cosAcosBcosC — 1
Inany AABCifA+B+C=m

then prove that cos2A + cos2B + cos2C = -4cosAcosBcosC — 1.
T g1 AABC H g &N (a+b—c)cot§=(a—b+c)oot§.

In any AABC Prove that

(@a+b-c) cotg =(a—-b+ c)cotg.

34 fag &1 Framms Marel St fdg (1, 2) 3R (11, 9) &1 MAermaret
RERES BT AAFATTT B! 7 |

Find the co-ordinates of the point which trisects the line segment
joining the points (1, 2) and (11, 9).
28 HI0 A AP & QM IR FHM $dls @ af G & | I9S® @ fhal

g = I I @W & 419 | 7, @™ & WY BT I BT 60° 3R

30° B | @il @ Sars dur 9 favg @ Rerfa sima |

Two pillars of equal height stand on either side of a roadway which
is 28m wide. At a point in the road between the pillars, the angles
of elevations of the tops of the pillars are 60° and 30°. Find the

height of the pillar and position of the point.
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